Potencias de 10 (H)

6.9794 + 10!

7.0794 = 10!

6.576 + 10!

3.4901 10!

1.8163 = 10!

7.9032 + 10!

7.6218 —10!

5.2413 = 10!

3.656 + 10!

3.96 10!

Calcule los siguientes cocientes.

7.6237 10!

9.9315 = 10!

6.4512 = 10!

3.0793 + 10!

6.0501 = 10!

8.3943 = 10!

3.2122 =+ 10!

3.9194 = 10!

2.9396 = 10!

6.637 10!
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Potencias de 10 (H) Respuestas

6.9794 10!
0.69794
7.0794 = 10!
0.70794
6.576 + 10!
0.6576
3.4901 + 10!
0.34901
1.8163 = 10!
0.18163
7.9032 + 10!
0.79032
7.6218 10!
0.76218
5.2413 10!
0.52413
3.656 + 10!
0.3656
3.96 = 10!
0.396

Calcule los siguientes cocientes.

7.6237 + 10!
0.76237
9.9315+10!
0.99315
6.4512+ 10"
0.64512
3.0793 = 10!
0.30793
6.0501 + 10!
0.60501
8.3943 — 10!
0.83943
3.2122 = 10!
0.32122
3.9194 = 10!
0.39194
2.9396 + 10!
0.29396
6.637 10!
0.6637
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